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1 = goo E 600,000
2 = goo E 300,000
3 ("] ooo E 160,000
4 = goo E 100,000
5 ("] goo E 85,000
6 ("] goo E 80,000
T7 = goo E 72,500
T7 = goo E 72,500
9 ("] goo E 65,000
T10 = ooo E 59,000
T10 ("] O00O0Oe OO E 59,000
T10 = ooo E 59,000
T13 = ooo E 53,000
T13 = ooo E 53,000
T15 = ooo E 49,500
T15 = ooo E 49,500
T17 = goo E 47,500
T17 = goo E 47,500
T19 = ooogd E 45,750
T19 = ooo E 45,750
T21 = ooo E 43,000
T21 = ooo E 43,000
T21 = ooo E 43,000
T21 = ooo E 43,000
T21 = ooo E 43,000
T26 = ooo E 37,500
T26 = ooo E 37,500
T26 = ooo E 37,500
T26 = ooo E 37,500
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37,500
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